
Fill in the Blanks
As you listen, fill in the blanks with information from the story.

Farmer Tom Deardorff has faced the problem of  ____________________

He has tried some of the expected ways of addressing the problem. For example, he has offered
incentives to attract workers, such as  ____________________

When that didn’t work, he ____________________

Deardorff believes the labor problem is due to how difficult and expensive it is for foreign workers to
____________________ because there are enough workers there.


